NE 218 (H) 2021-2022

1. Ex1
| P(4) =03 P(B) = 0.6HA, Bz, RP(AB|A U B).

P(AB) P(A)P(B) 1
PABIAVE) = 50005y ~ BA) T P(B) - P(AF(E) _ 1

9
P(Xl UXoU Xg) = 1—6,X1X2X3 = @, X1, Xo, X3P H AT,
P(X1) = P(Xs) = P(X3), RP(X)).

9
P(X,UX,UX3) =3z — 322 = o

o=, WE(X) = 5.

2. Ex2

P HIRIE S A A IR HRIB R, P(A) = 0.6, % — A g% LR R %
0.7, 3k:

L SRABIA SIS R,
2. A D NHABIERBEER DY 0.8, X F — M 2%k, PEASRSL IR S R 7%, SRV &
SRR,

(DO BE NN RSk, T

P(Cy) = P(C1|A)P(A) + P(C,|B)P(B)
=0.7x06+03x04
= 0.54.

QWO = NN A%, W

P(C2) = P(Ca|A)P(A) + P(Cy| B)P(B)
=0.8x0.6+0.2x0.4
= 0.56.

P(AC,Cy)
P(C,C5)
B P(C1C,|A)P(A)
~ P(C1C4|A)P(A) + P(C,Cy| B)P(B)
B 0.7 x 0.8 x 0.6

"~ 0.6x0.7%x0.8+0.4x%x0.3x0.2
4
157

P(A|C1C>)
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3. Ex3

S E1E, nARMELR 70 A

&Enil0 102
0 ia b b
1 ib a b
2 ib b a

1 W F R (&n) Mafmss, k F(1,1).
2. W ¢ = max{&,n}, R {,n A%l
3. A ES nMHEM, Rafb.

(WF(1,1) = F(¢ <1,p<1) = 2a + 2b.
)¢, n) A HIA

¢Gni0 1 2
0 ia 0 0
1 ib a+b 0
2 ib b a+2b

Q)YH M HFIIRTETE, H3a + 6b = 1; AT, H

P(¢ = 0,7 =0) = (a -+ 2b)(a+ 2b) = a,
P(=1,1n=0)= (a+2b)(a+2b) =b,

Mg — b, Fa = b— %

4. Ex4

WX1, Xo, XsMsrF 4 TE(1), A

X X1+ X
XXy P X+ X+ X3!

1. 3K (Y1, Ys, Y3) HOBES 4010 B
2. iJ:EEE Y17 Y27 Y3 *HE?ETL

Y

(A
X1 =Y1YhYs3,
X2 = Y3Y3 - Y Y5V,
X3 =Y3 - Y,Y53,
6(3:1, 2, wg) Y2y3 Y1Ys3 Y1Y2 ,
. T | TY2Ys Ys —Y1Ys Y2 — Y1Y2| = Y2Y3,
A(y1,y2,y3)
0 —Ys3 1—-ys
TR

8(%1, T2, 153)

O(y1,y2,v3)
— o —yays+ —y3+ 2
= e VI3 YRS TYINYS o Y3 Y3y 2

PY(y17y2,y3) :pX(-’L'17w27$3)

— 2
=e€ y3y2y310<y1<110<y2<110<y3,

H

Y; = X5+ Xo + X,
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2
Ys _
Py (Y1, Y2,Y3) = (To<y,<1) - (2y2Lo<y,<1) - (736 y3Iy3>0> = py, (¥1)Py; (¥2)Py; (y3),

FTEAY7, Yo, YaAH ELAMAT.
5. Ex5

W& ML E AR TN (0,1),U = 36+ 21,V = 26+ 3n, 3K

Tu+v,u2+v2:
HEH
Cov(¢?,€) = Cov(n*,1) = Cov(én, £) = Cov(én,n) = 0;
H
U+V =5+ 5,
U? + V7% =136 +13n% + 14€n,
T

Cov(5¢ + 51, 13¢% 4 13n° 4 14¢n) = 0,

Wry v peve = 0.

6. Ex6
| - nbfsden s B, BOREA I EL RE(E) FID(E).

> KA . s D, > KA . =3 1
WX AREME PR S ME R B, WX, ~ B (17 Z)’ H

E(X;) = %, D(X;) = n—_zl’
1
E(X; X)) =P(Xi=1,X;=1) = n(n—1)’
Cov(Xi, X;) = E(XiX;) — E(X:)E(X;) = nz(nl_ 1)’

e = X, Hibd

i=1

7. Ex7

KHUEEALA 200, B A L0% AT RETEA G, 75 2 AT & 2 /b KL, (kAL KLY
BN NHA AL FIEZEA DT 95%.

B BENLE KA N, AR ERALBONX, WX ~ B(n,0.9), H1 O R E 2,
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P(X < 200) =P

( X —0.9n - 200 — 0.9n )N
vVn-09-0.1 +/n-09-0.1

wAH
200 — 0.
3 (M) > 0.95 = &(1.65),
0.3vn
L
200-09n 65— p <214,
0.3v/n
8. Ex8

WM E (k) FARE AL, S =) kg, RiEE:
k=1

S, P 1
_— =
n(n+1) 2
H
=1
< 2 s n(n+1)(2n+1)
;D(k &) = Zk : .
v LA

g (n(nS:— 1)) - 27:1((7;111)) - %

Sn ~nn+1)(2n+1) 2n+1
nin+1))  6n2(n+1)2 6n?
B S KA, Ve > 0,
S, 1 . 2n+1
lim P - = < lim ——— =
noseo ( n(n+1) 2 ~ E) oo Gnle
B
Sh P 1
— —.

200 — 0.9n
0.3v/n

— 0,
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